| Efficiency vs Dxy |

> 0.1
<

S A T R S S
L S S R
< N T T R A A
@.081—----%------% ------- R HHAM I Sl Sl
R S 1 1 S S S
D07t g
GJOOG;_ :rl'l | ------- ------ ....... ......
005+ o o
0.04f i [l T

0.03

0.02

0.0

J.O.:

......

Ratio

vosbe {4 L

- o R g - - - - GRS dum R R @ -|- [ FF | -|RIRIAN S - R - - - -

0955 20-15-10 -5 0 5 10 15 20 25

TP dxy (cm)

T T retram

It_TT_NEWdefault_specPLessl
it EWdefault_specPLess2
it EWdefault_specPLess3

—— DOM K
_ —e— DOQM™mk

[ Efficiency vs Dz | | —— DQM™mk
—— DOM™mk

T

It TT_NEWdefault_specPLess4
N 0.2 ;

Bagk
& [ : : : : :
A6 A A A
(&) - B B B B B
.14 Frrrmeneeens g froreeeees e
o : : : : :
e
e
0.08 : : : :

0.06

0.04

[LTTITTT

0.02

Ratio
F
(]

=
l_\

P - 4 - -dpde © - - ekl

20 30
TP dz (cm)

[
T
4

|
wll
o



	Contents
	Page 1


